[1——BERZREDERELSAEREFREERE)
(EROFE1A~FR165E12A)

B B &
OMEHH
J A v 49 |eFE1B~12810FE1B~128[11F18~12812818~128[13%18~128(14F18~128(15%18~128|16%E18~128 it
4 B HE 54 28 7 14 3 6 10 4 126
® 4 105 26 27| 10 4 8 14 0 194
3 B E # 50 13 4 0 0 1 1 0 69
B ® 252 118 58 42 21 6 3 12 512
& il 157 45 31 14 10 7 2 0 266
s E 113 56 41 28 12 12 9 4 275
=) E5] 113 21 19 16 22 11 7 7 216
& 22 6 1 0 3 1 1 0 34
oW - i B 101 43 18 18 3 4 3 7 197
& it 967 356 206 142 78 56 50 34 1889
1 MR- ERE
e % 104 208 308 401t 501 6 0ftilk F B &t
= 6 (0.4)] 278 (20.2)( 310 (22.5)| 328 (23.8)| 275 (20.0) 83  (6.0) 98  (7.1)| 1,378 (100.0)
[85. 7] [67.5] [71.4 [71.0] [85. 9] [94. 3] [59.0] [72. 9]
% 1 (0.2)] 130 (30.3)[ 115 (26.8)] 120 (28.0) 39 (9.1) 4 (0.9) 20 4.7 429 (100.0)
[14.3] [31.61 6.5] [26.0] [12.2] [4.5] [12.0] [22.7]
x ;| 0 (0.0 4 (4.9 9 (11.0) 14 (17.1) (2.3) 1 (1.2 48  (58.5) 82 (100.0)
[0. 0] [1.0] [2.1] [3.0] [1.9] [1.1] [28.9] [4.3]
&t 7 (0.4)] 412 (21.8)| 434 (23.0)] 462 (24.5)] 320 (16.9) 8 (4.7 166 (8.8)] 1,889 (100.0)
s [100. 0] [100. 01 100. 0] [100. 0] [100. 0] [100. 0] [100.01 [100. 0]
%2 WA (RBRAZER - AEEBG)
2 & @ (k1) A E @\ (%2)
s3] B b ! 7 £ B Bt 1 2 3 £ B i
= 399 (29.0)| 812 (58.9)] 167 (12.1)]1,378 (100.0)] 905 (65.7)| 185 (13.4) (6.8)] 194 (14.1)] 1,378 (100.0)
[83. 1] [69. 51 [69. 61 72.9 [71.8] [80. 8] [70 7] [72.7] [72.9]
% 66 (15.4)] 307 (71.6) 56 (13.1)| 420 (100.0)] 305 (71.7) 31 (1.2 (8.6) 56_ (13.1)]| 429 (100.0)
[13.81 [26.3] [23.3] [22.7] [24. 2] [13.5] [27. a] [21.01 [22.7]
F B 15 (18.3) 50 (61.0) 17 (20.7) 82 (100.0) 50 (61.0) 13 (15.9) 2.8 17 (20.7) 82 (100.0)
3.1] [4.3] [7.11 [4.3] [4.01 [5.71 [1. 5] [6.4] [4.3]
Bt 480 (25.4)1 1,169 (61.9)] 240 (12.7)[ 1,889 (100.0)[ 1,260 (66.7)| 229 (12.1)] 133 (7.0)| 267 (i4.1)| 1,889 (100.0)
[100. 01 [100. 0] [100. 0] [100.0] [100. 01 [100. 01 [100. 0] [100. 01 [100. 0]
&3 FR (RRAZERN - AEERZD
2 B B & A B ¥ @
i B b 8] 1T £ B B 1 2 3 4_B§ Gi
108 2 (28.6) 2 (28.6) 3 (42.9) 7_(100.0) 5 (711.4) 0 (0.0 0 (0.0 2 (28.6) 7 (100. 0)
[0. 4] [0.2] [1.3] 0.4] [0. 4] [0.0] fo.0] [0.7] 4]
204t 125 (30.3) 236 (57.3) 51 (12.4)| 412 (100.0)| 256 (62.1) 57 (13.8) 37 (9.Q) 62 (15.0) 412 (100. 0)
[26. 0] [20.2] [21.3] [21.8 [20.3] [24. 9] [27.81 [23.2] 21.
308 123 (28.3)[ 275 (63.4) 36 (8.3) 434 (100.0)] 299 (68.9) 51 (11.8) 3 (1.1 53 (12.2) 434 (100. 0)
[25. 6] [23. 5] [15.0] [23.0] [23.7] [22.3] [23.3] [19.9] [23. 0]
408 102 (22.7)[ 291 (63.0) 69 (14.9) 462 (100.0)[ 316 (68.4) 37 (8.0) KA ) 75 (16.2)| 462 (100.0)
[21.3] [24.9] [28. 8] 24, [25.1] [16.2] [25.6] [28.1] 24.5
504t 78 (24.4)| 203 (63.4) 39 (12.2) 320 (100.0)] 220 (68.8) 36 (11.3) 19 (5.9 45 (14.1)| 320 (100.0)
[16. 3] [17.4] [16.31 16. 9 [17.51 [15.7] [14.33 [16.91 16. 9
6 ORELE 18 (20.5) 62 (70.5) 8 (0.7) 88 (100.0) 67 (76.1) 9 (10.2) 5 (5.7) (8.0) 88 (100.0)
[3.8] [5.3] [3.3] 4.7] [5.31 [3.9] [3.8] [2.6] [a.1]
F B 32 (19.3)] 100 (60.2) 34 (20.5)| 166 (100.0) 97 (58.4) 39 (23.5) 7 (4.2 23 (13.9)| 166 (100.0)
[6. 71 [8. 61 [14.2] [8.8] (1.1 [17.0] [5.31 [8. 61 [8. 8]
st 480 (25.4)11,169  (61.9)[ 240 (12.7)[ 1,889 (100.0)| 1,260 (66.7)| 229 (12.1)] 133  (7.0)| 267 (i4.1)] 1,889 (100.0)
8 [100. 0] [100. 0] [100. 0] [100. 0] 100. 01 [100. 0] [100. 0] [100. 0] [100. 0]
X1 RRAEOD

B85l [ A—F—BoEDOREBICEZFLEAALELOD
MR47) X, ERRITEZICEBELEZLO

X2 AEEHOD
M1] &, EREBBOTEAREICLIMBRED-HDIZAELE-LD
M2 I, EﬁTAﬁl&%E&E%ﬁw%ﬁwtwlkﬁbt%w

f31ﬁ FIRETRESERIC. 22H (THAREEE) OEHICAELEZLD

-1-




4 RRFGE (AEERE)

s | ER%OTAS | BREFRE |RREOKEH| T 9 &
B 5 229 (41.7)] 159 (33.1) 51 (10.6) 41 (8.5)| 480 (100.0)
18. 2] [69. 4] [38. 3] [15.4) 25. 4]
® 7 943 (80.7) 60 (5.1) 73 (6.2) 93 (8.0)| 1,169 (100.0)
[74.8] [26. 2] [54. 91 [34.8 [61. 91
R B 88 (36.7) 10 (4.2 (3.8)] 133 (55.4)| 240 (100.0)
[7.0] [4.4] [6. 81 [49. 8] [12.7]
5 1,260 (66.7)] 229 (12.1)] 133 (7.0)| 267 (14.1)| 1,889 (100.0)
" [100. 0] 100. 0] [100. 0] [100. 0] [100. 0]
x5 AEROEREH (RHRAEH - AEEAHG)
2 & B & A B B @
FRER 5 o ®_T T B &t 1 2 3 X B B
T @B 48 (32.4) 89  (60.1) 11 (7.4)| 148 (100.0)| 107 (72.3) 10 (6.98) 22 (14.9) 9  (6.1)] 148 (100.0)
[10.0] [7.6] [4. 6] [7.8] [8.5] . 4] 6.5] [3.4] [7.81
2@E 51 (19.9)] 194 (75.8) 11 (4.3)] 256 (100.0)| 205 (80.1) 1 (4.3) 22 (3.6) 18 (7.0)| 256 (100.0)
[10. 6] [16. 6] [4.6] [13. 6] [16. 3] [4.8] [16.5] [6.71 [13.6]
sEE 88 (23.5)| 262 (70.1) 24 (6.4)| 374 (100.0)| 284 (75.9) 40 (10.7) 24 (6.4) 26 (7.0)| 374 (100.0)
[18. 3] [22.4] [10.0] [19.8] [22. 5] [17.5] [18.0] [9.71 [19.81
4EE 83 (23.1)| 241 (66.9) 36 (10.0)[ 360 (100.0)| 258 (71.7) 56 (15.6) 24 (6.7) 22 (6.1) 360 (100.0)
[17.3] [20. 61 [15.0] [19.1] [20. 51 [24.5] [18.0] [8.2] [19.1]
s5EE 47  (28.0)] 111 (66.1) 10 (6.0 168 (100.0)| 118 (70.2) 32 (19.0) 5 3.0 13 (7.7)] 168 (100.0)
[9. 8] [9.51 [4.2] [8.9] [9. 4] [14.0] [3.8] [4.9] [8.9]
6EELE 74  (37.4)| 106 (53.5) 18 (9.1)] 198 (100.0)| 140 (70.7) 42 (21.2) 7 @35 9 (4.5 198 (100.0)
[15.4] [9.1] [7.5] [10.5] [11.1] [18.3] [5.31 [3.4] [10.5]
x = 89  (23.1)| 166 (43.1)[ 130 (33.8)| 385 (100.0)| 148 (38.4) 38 (9.9) 29 (7.5 170 (44.2)] 385 (100.0)
[18.5] [14.2] [54.2] [20. 41 [11.7] [16. 6] [21. 8] [63. 7] [20. 4]
5 480  (25.4)] 1,169  (61.9)| 240 (12.7)[ 1,889 (100.0)[ 1,260 (66.7)| 229 (12.1)| 133 (7.0)| 267 (14.1)| 1,889 (100.0)
" [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0]
=6 ERFIOEHABREEOETE (RRAZE - AEERR)
B 5 & , A B E &
RIEDHR B 5 ®]_17 ] &t 1 2 3 . £ _Bj i
= i 28 (24.8) 83 (73.5) 2 (1.8)| 113 (100.0) 86 (76.1) 9 (8.0 12 (10, 6) 6 (5.3)] 113 (100.0)
[5. 8] [7.11 [o. 8] [6. 0] [6. 8] [3.9] [9.0] [2.2] 6.0
P 293 (29.3)| 658 (65.9) 48 (4.8) 999 (100.0)| 738 (73.9)| 128 (12.8) 76 (7,6) 57  (5.7) 999 (100.0)
[61.01 [56.3] [20. 0] 52.9] [58. 61 [55. 91 [57.11 [21.3] [52. 9]
X B 159 (20.5)| 428  (55.1)] 190 (24.5)| 777 (100.0)| 436 (56.1) 92 (11.9) 45  (5,8)| 204 (26.3) 777 (100.0)
[33.1] [36. 61 [79.21 41.1] [34. 61 [40. 2] [33. 8] [76. 41 [41.1]
5 480  (25.4)1 1,160  (61.9)| 240 (12.7)[ 1,889 (100.0) 1,260 (66.7)| 229 (12.1)| 133  (7,0)| 267 (i4.1)] 1,889 (100.0)
a [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0]
2%E [T ARSERERR (BE))
sl =R 2w Tt T 9 &
= % 93 (82.3) 18 (15.9) 0 (0.0) 2 (1.8 113 (100.0)
[7.11 [4.5] [0.0] [1.2] [6.0]
e 724  (72.5)| 250 (25.0) 4 (0.4) 21 @1 999 (100.0)
[55. 5] [62.21 [30.8] [12.4] [52. 9]
x 5 487 (62.7)| 134 (11.2) 9  (1.2)] 147 (18.9)| 777 (100.0)
37.3] [33.3] [69. 2] [86.51 [41.13
& 1,304 (69.0) 402 (21.3) 13 (0.7)] 170  (9.0)| 1,889 (100.0)
N [100. 01 [100. 0] [100. 0] [100. 0] [100. 0]
x7 AEROETER (2RAZXM - AEEHZ)
2 B A & A B B |
EITIER B b g1 I B &t 1 2 3 X BB i
1 kR 4 (36.4) 7 (63.6) 0 (0.0 11 (100.0) 6 (54.5) 3 (27.3) 1 (9.1) 1 (9.1) 11 (100.0)
! [0. 8] [0. 61 [0.0] [0. 6] [0.5] [1.3] . 8] [0. 4] [0. 6]
1~3%kn 36 (32.1) 65 (58.0) 11 (9.8)] 112 (100.0) 71 (63.4) 14 (12.5) 16 (14.3) 1 (9.8)] 112 (100.0)
[7.5] [5. 6] [4. 6] [5.9] [5. 6] [6.1] [12.0] [4.1] [5. 93
3~5%kn 72 (23.8)[ 196 (64.9) 34 (11.3)] 302 (100.0)] 221 (73.2) 28 (9.3) 24 (1.9) 29 (9.6){ 302 (100.0)
[15. 0] [16.8] [14.2] 16. 0] [17.5] [12.2] [18.0] [10.96] [16.0]
5~7Fkm 89 (21.7)[ 279 (68.0) 42 (10.2)| 410 (100.0)| 297 (72.4) 41 (10.0) 27 (6.6) 45  (11.0){ 410 (100.0)
[18. 5] [23.9] [17.5] [21.7] [23. 6] [17.9] [20. 3] [16.9] [21.7]
7~ 105 kn 138 (27.9)[ 310 (62.6) 47  (9.5)| 495 (100.0)| 340 (68.7) 69 (13.9) 29 (5.9 57 (11.5)[ 495 (100.0)
[28. 8] [26.5] [19. 6] [26. 2] [27.0] [30.1] [21.8] [21.3] 26. 2]
10F kni2 100 (28.7)] 213 (61.2) 35 (10.1)] 348 (100.0)| 233 (67.0) 50 (14.4) 22 (6.3) 43 (12.4)] 348 (100.0)
[20. 8] [18.2] [14.6] [18.4] [18.5] [21.8] [16.5] [16.1] [18. 4]
7 B 41 (19.4) 99  (46.9) 71 (33.6)] 211 (100.0) 92 (43.6) 24 (11.4) 14 (6.6) 81 (38.4)] 211 (100.0)
[8. 5] [8.5] [29. 6] [11.2] [7.3] [10.5] [10.5] [30. 3] [11.2]
5 480  (25.4)] 1,169  (61.9)| 240 (12.7)[ 1,889 (100.0)] 1,260 (66.7)| 220 (12.1)| 133 (7. 0)| 267 (14.1)]1.889 (100.0)
° [100. 0] [100. 0] [100. 01 [100. 0] [100.0] [100. 0] [100. 0] [100. 01 1100. 01




8 BERENEL - AR (RRAKR - AEE#HBD

2 B A & A E B B
1130 3R B 5 [ E it 1 3 El] i
1.hE )
2 B 238 (27.9)| 557 (65.2) 59  (6.9)| 854 (100.0)| 597 (69.9)| 130 (15.2) 63  (7.4) 64 (7.5)| 854 (100.0)
[49. 6] [47.6]. [24. 6] [45. 2] [47. 4] [56. 8] [47. 4] [24.0] [45. 2]
B w 35 (29.7) 76 (64.4) 7 (5.9 118 (100.0) 83 (70.3) 18 (15.3) 8  (6.8) 9 (7.6)] 118 (100.0)
[1.3] [6.5] [2.9] [6. 2] 6. 6] [7.9] [6.0] [3.4] 6. 2]
20l 3 (60.0) 2 (40.0) 0 (0.0 5 (100.0) 4 (80.0) 1 (20.0) 0o (0.0 0 (0.0 5 (100.0)
[0. 61 [0.2] [0.0] [o. 3] [0.3] [0. 4] [0.0] [0.0] [0.3]
F B 1 (25.0) 2 (50.0) 1 (25.0) 4 (100.0) 4 (100.0) 0 (0.0) 0 (0.7 0 (0.0 4 (100.0)
[0.2] [0. 2] [0. 4] [0.2 [0.3] [0. 0] [0.0] [0. 0] [0.2]
5t 277 (28.2)| 637 (64.9) 67 (6.8)] 981 (100.0)[ 688 (70.1)[ 148 (15.2) 1D 73 (7.4)| 981 (100.0)
. [57.7] [54.5] [27.9] [51.9] [54. 6] [65. 13 [53. 4] [27.3] 1.
2.88
% @ 60 (31.9)] 115 (61.2) 13 (6.9)| 188 (100.0)] 136 (72.3) 19 (10.1) 23 (12.2) 10 (5.3)] 188 (100.0)
- [12.5] [9. 8] [5. 41 [10.0] [10.8] [8.3] [172.3] [3.7] [10.0]
5w 16 (55.2)] -11 (37.9) 2 (6.9 29 (100.0) 20 (69.0) 6 (20.7) 1 (3.4) 2 (6.9 29 (100.0)
[3.3] [0.9] [o.8] [1.5] [1.6] [2.6] [o.8] [0.7] [1.5)
Z0k 1 (20.0) 3 (60.0) 1 (20.0) 5 (100.0) 4 (80.0) 1 (20.0) 0 (0.0) 0 (0.0 5 (100.0)
f0.2] [0.3] [o. 4] f0. 3] fo. 31 [0. 4] [0. 0] f0. 0] 0. 3]
x B 2 (33.3) 3 (50.0) 1 (16.7) 6 (100.0) 4 (66.7) 1 (16.7) 0o (0.0) 1 (6.7 6 (100.0)
[0. 4] [0.3] [0.4] . [0.3] [o. 4] [0.0] [0. 4] [0.3]
5 79 (34.6)| 132 (57.9) 17 (1.5)| 228 (100.0)| 164 (71.9) 27 (11.8) 24 (10.5) 13 (5.7)| 228 (100.0)
[16.5] [11.3]. [7.1] [12.1] [13.0] [11.8] [18.0] [4.9] [12.1]
3.8
%= B 57 (22.6)| 170 (67.5) 25 (9.9)| 252 (100.0)| 192 (76.2) 22 (8.7) 21 (8.9) 17 (6.7)| 252 (100.0)
[11.9] [14.5] [10. 4] 3.31 [15. 2] [9. 6] [15.8] [6. 41 [13.3]
5 W 53 (21.1)|. 177 (70.%) 21 (8.4) 251 (100.0) 196 (78.1) 28 (11.2) 13 (5.2 14 (5.6)| 251 (100.0)
[11.0] [15.1] [8.8] [13.3 [15. 6] [12.2] [9.8] [5.2] [13.3]
Z0M 1 (100.0) 0 (0.0) 0o (0.0 1 (100.0) 1 (100.0) o (0.0) 0o (0.0 0 (0.0) 1 (100.0)
0.2] [0.0] [0.0] [0.1] [0.1] [0. 0] [0.0] [0.0] 0.1]
x B 1 (7.1) 9 (64.3) 4 (28.6) 14 (100.0) 9 (64.3) o (0.0 4 (28.6) 1 (7.1 14 (100.0)
[0. 2] [0. 8] [1.7] . 7 [0.7] [0.0] [3.0] [0. 4] [0.7]
& 112 (21.6)] 356 (68.7) 50 (9.7)] 518 (100.0)] 398 (76.8) 5 (8.7 38 (1.9) 32  (6.2)[ 518 (100.0)
[23.3] [30. 5] [20. 81 [27. 4] [31. 6] [21.8] [28. 61 [12. 0] [27. 4]
4. 7Bf
% B 2 (20.0) 4 (40.0) 4 (40.0) 10 (100.0) 5 (50.0) 1 (10.0) 0o (0.0) 4 (40.0) 10 (100.0)
[0. 4] [0.3] [1.73 [0. 5] [0. 4] [o. 4] [0.0] [1.5] [0. 5]
% 1 (25.0) 1 (25.0) 2 (50.0) 4 (100.0) 2 (50.0) 0o (0.0 0o (0.0) 2 (50.0) 4 (100.0)
[0.2] [0.1] [o.8] [0. 2] [0. 2] [0. 0] [0.0] [0.7] 0.2]
Zok 1 (50.0) 0 (0.0 1 (50.0) 2 (100.0) 0 (0.0 1 (50.0) o (0.0 1 (50.0) 2 (100.0)
- [0.2] [0.0] [0. 4] [0. 1] [0.0] [0.4] [0. 0] fo. 41 fo. 1]
E— 8 (5.5) 39 (26.7) 99  (67.8)| 146 (100.0) 3 (2.1) 1 (0.7) 0 (0.0)] 142 (97.3) 146 (100.0)
[1.71 [3.3] [41.3] [7.71 fo. 2] [0.4] [0. 0] [53. 2] [7.71
5 12 (7.4 44 (27.2)| 106 (65.4)] 162 (100.0) 10 (6.2 3 (1.9) 0 (0.0)] 149 (92.0)] 162 (100.0)
" [2.5] [3.8] [44.2] 8. 6] [0. 8] [1.3] [0.0] [55. 8] [8. 6]
5. 8%
% B 357 (27.4)| 846 (64.9)| 101 (7.7)| 1,304 (100.0)| 930 (71.3)| 172 (13.2){ 107 (8.2) 95  (7.3)| 1,304 (100.0)
[74.4] [72.4] [42.1] [69. 0] [73. 8] [75.1] [80. 5] [35. 6] [69.0]
® 105 (26.1)| 265 (65.9) 32 (8.0) 402 (100.0)| 301 (74.9) 52 (12.9) 22 (5.9 27 (6.7)] 402 (100.0)
[21.9] [22.7] [13.3] [21.3] [23. 9] [22.7] [16.5] [10.1] [21.3]
Z0l 6 (46.2) 5 (38.5) 2 (15.4) 13 (100.0) 9 (69.2) 3 (23.1) 0 (0.9 1 .70 13 (100.0)
[1.3] [0.4] [0.8] [0.7] [0.7] [1.3] [0.03 [0. 4] [0.7]
F 5 12 (7.1 53 (31.2)] 105 (61.8)| 170 (100.0) 20 (11.8) 2 (1.2 4 (2.4 144 (84.7)[ 170 (100.0)
[2.5] [4.5] [43.8] [9.0] [1.6] [o. 9] [3.0] [53. 9] X)
5 480 (25.4)] 1,169 (61.9)| 240 (12.7)[ 1,889 (100.0)[ 1,260 (66.7)| 229 (12.1)| 133 (7.Q)| 267 (i14.1)] 1,889 (100.0)
= [100. 0] [100. 0] [100.0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 01 [100.0]
%9 ERZBROLAEETORBA (REAER - AEERA)
2 8 F & A E 3B B
Eitoy:] B b ! 17 X B E 1 3 B i
P~ 250 (42.2)| 291 (49.1) 52 (8.8)| 593 (100.0)| 282 (47.6)| 194 (32.7) 53 (8.9) 64 (10.8)| 593 (100.0)
[52.1] [24. 9] [21.7] [31. 4] [22. 4] [84.7] [39. 8] [24. 0] [31.4]
1~32 BEIA 50 (14.5)] 253 (73.1) 43 (12.4)| 346 (100.0)] 280 (80.9) 2 (0.6) 24 (6.9 40 (11.6)| 346 (100.0)
[10.4] [21. 6] [17.9] [18.3] [22.2] [0.9] [18. 0] [15.0] [18.3]
3~6% BEM 43 (13.6)| 230 (72.8) 43 (13.6)| 316 (100.0)] 244 (77.2) 1 (0.3) 15 (4.7) 56 (17.7)] 316 (100.0)
[9.0] [19.7] [17.9] [16.71 [19. 4] [0. 4] [11.3] [21.0] .7
65 B~125p 4 (15.7)| 192 (68.6) 44 (15.7)| 280 (100.0)| 222 (79.3) 2 (0.7) 11 (3.9) 45 (16.1)| 280 (100.0)
[9.2] [16.4] [18.3] [14.8] [17.6] [0. 9] [8.3] [16.9] [14.8]
158 31 (18.0)] 114 (66.3) 27 (5.7} 172 (100.0)| 134 (77.9) 0 (0.0 6 (3.5 32 (18.6)] 172 (100.0)
[6.5] [9. 83 [11.3] [9.1] [10. 6] [0. 0] [4.5] [12. 01 [9.1]
X B 62 (34.1) 89 (48.9) 31 (17.0)] 182 (100.0) 98 (53.8) 30 (16.5) 24 (13.3) 30 (16.5)] 182 (100.0)
[12.9] [7.6] [12.91 [9. 6] [7.8] [13.1] [18.0] [11.2] [9. 61
5 480 (25.4)| 1,169 (61.9)| 240 (12.7)] 1,889 (100.0) 1,260 (66.7) 229 (12.1)| 133 (7.0)| 267 (14.1)] 1,889 (100.0)
" [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 01 [100. 0]




2% (ERXBRODAEZTORBA (A

Bit

8BS £ R BE W T Dt T B &t
. 417 (70.3)| 137  (23.1) 4 (0.7) 35  (5.9)] 593 (100.0)
17 AUR [32.0] [34.1] ) [30.8] ) [20. 61 - [31.4]
~ N 240  (69.4) 71 (20.5 3 (0.9 32 9.2 346 (100.0)
1~37 AUR [18. 4] [17.7] [23.1] ) [18.8] [18.3]
- s ) 216 (68.4) 57 (18.0) 1 (0.3 42 (13.3)| 316 (100.0)
3~67 RER [16. 6] [14.2] 1T : [24.7] : [16.7]
Py 190  (67.9) 62 (22.1 0 (0.0 28 (10.0)[ 280 (100.0)
S7R~TFERN | 1yq) [15.4] [0.0] [16.5] [14.8]
1% 1 120 (69.8) 30 (17.4) 4 (2.3) 18 (10.5)] 172 (100.0)
[9.2] [7.5] [30.8] [10. 6] [9.1]
x B 121 (66.5) 45 (24.7) 1 (0.5) 15 (8.2)] 182 (100.0)
[9. 3] [11.2] [7.7] [8. 8] [9. 6]
& 1,304 (69.0)] 402 (21.3) 13 (0.7 170 (9.0)| 1,889 (100.0)
i [100. 0] [100. 0] [100. 0] [100. 0] [100. 0]
#&10 ZEANEFEER (RRFER - AEERA)
R WA A B ®E fH
wEe Bo|RTF|FTH Bt 1 2 3 7 B8 &t
BN FIL 1 2 0 3 2 1 0 0 3
; ¥ ¥4 952, 09) 7-LFE K YT a4V 76 35 8 119 40 66 3 10 119
y [ RA=LTFSA A b 19 12 4 35 8 16 2 9 5
#[RT=FF7UTHT 12 51 ) 72 53 1 9 ] 2
& £ 108 100 21 229 103 84 14 28 239
TL—FRF)L 5 4 0 9 0 0 1 9
g S—FTTL—* 12 23 3 38 18 11 2 7 38
TL—FF—RANAT 5 11 4 20 [ 4 1 6 20
|28 9 29 6 44 32 0 8 4 4
RRE—UIF 7 22 2 31 24 1 1 5 1
F e e P 40 136 27 203 151 5 11 36 203
TARYFxw YR 19 87 29 135 102 3 27 135
B ESLRUSA=VT 52 179 E 264 194 1 19 38 264
FAARAIRUVIRYE 136 661 152 949 726 8 46 169 949
£ 285 | 1,152 256 | 1,693 | 1. 264 45 91 293 | 1.693
E[ZAY 5 7 3 15 § 3 3 1 15
T{FRA = 3 7 4 14 7 4 0 3 14
BIHRA—=NWRTFYT 8 18 2 28 18 0 1 9 28
jis Bt 16 32 9 57 33 7 4 13 57
RIRTIVT 1 2 0 3 0 1 0 2 3
W0y b -7-LEE. & -y 3{v}b 6 7 3 16 ¢ 5 2 3 16
®|TavwsF7ITI—N 2 12 4 20 5 4 3 30
B Bt 11 21 7 39 14 11 6 8 39
IS5vF ] 34 5 47 42 1 1 3 47
BHITZaFIL PSRRIy a Y 3 3 1 7 4 0 1 2 7
BA—FIFVI S VREVS3Y 5 14 3 22 17 0 4 1 22
& FoRTw Ik 0 4 2 6 3 1 0 2 6
ZIFSA4Jo% Ik 77 101 26 204 98 63 16 27 204
BIFOANS YT R, NT 4 14 3 21 13 | 2 2 4 21
BlF4 7L %L 3 7 0 10 7 0 2 1 10
Bt 100 177 40 317 184 67 26 40 317
FEETER A 1 9 2 2 10 0 0 2 12
B|XERM 1 15 4 20 17 1 0 2 20
EAEERA 22 131 13 166 135 0 10 21 166
BN FY— 6 27 1 34 30 0 2 2 34
BITA, HEE 71 23 7 101 21 61 9 10 101
&t 101 205 27 333 213 62 21 37 333
MEPPPrS 4 21 0 25 18 0 1 6 25
IESEIE TS 6 33 1 40 31 1 4 4 40
SIS EANYE, Ay FAIR— 12 23 6 41 32 1 1 7 41
2IE Aby, 3Vl . 55v9949b 1 5 0 6 4 1 1 0 6
FRLTHE 15 68 88 74 2 7 5 8B
i E 38 150 7 200 159 5 14 22 20D
[FAE%E 24 30 69 16 | 115 85 1 11 8] 116
| AR 9 35 2 46 33 5 0 8 46
BBmEITIILE— 1 6 1 8 8 0 0 0 B
E AT o e AL 1 2 0 3 2 0 1 0
& £ 11 43 3 57 43 5 1 8 57
F—NR—E—F 3 9 0 12 9 0 1 2 12
W BEIK 14 29 8 51 41 0 4 6 51
# T 7Rk (ACE, I7aUA IE) 35 144 29 208 159 2 27 20 20
R|5TI—43 10 30 5 45 33 0 5 7 4
B|STTI-AFE—R 5 1 0 16 14 1 0 16
| | &t 67 22 42 332 256 3 38 35 332
BT IR 1 2 0 3 3 0 0 0
| HEHH 5 R B 31 42 8 81 44 26 2 9 8
ZTO 3 17 0 20 . 3 4 1 20
= B8 0 0 0 0 0 0 0 0 0
E 802 | 2,233 441 | 3,476 | 2,413 329 232 502 | 3,47
& % 480 | 1.169 240 | 1,889 | 1,260 229 133 267 | 1,88




%11 ZEBHNZHER (ERVOENRREROREOHER)

ERNOFEHRBRERBEOEEDEE

BB = ik KR T B 5
NI 0 2 1 3
5 [FAF 992, 09 7L & ~bY" a{oh 5 65 49 119
Y |[RA—WTSA4*2 b 3 15 17 35
g|NND—=AFFIYYT 3 37 32 72
B =t 11 119 99 229
TL—FRE) 0 5 4 9
N=F25TL—F* 0 26 12 38
WS T—Fk—x. /\47 0 7 13 20
B IJL—F% 4 25 15 44
TRE— K 1 15 15 31
g|RA—IL Y xs 8 115 80 203
TA4ARIF¥ U/\" 6 60 89 135
#|FSLRUSA=VT 11 152 101 264
TFTARIBRUNY R 51 481 417 949
=t 81 886 726 1, 693
EFEZAYN 2 9 4 15
Tl7k1 —IL 0 7 7 14
EIRA—JILRTYF 1 16 11 28
[ 5t 3 32 22 57
APy 0 1 2 3
Ay b -7-MEE. K - 34vh 0 7 9 16
E|lavsF7IV—N 1 9 10 20
B it 1 17 21 39
DS 9F 6 24 17 47
B|IN=ZaFI S REvTa Y 0 3 4 7
AA—FIFVI IS VRZIVI I 2 11 9 22
E(Z7aRT ¥y T b 1 3 2 6
EIFSA4JT %D b 8 108 a8 204 |
EFHRILT ¥ T F. ND 2 8 11 21
PR TIVWITr Il 0 8 2 10
=t 19 165 133 317
B 0 8 4 12
BIxEERM 2 14 2 20
A DER S 7 85 74 166
ElNNwF1)— 5 23 6 34
BTk, SIERE 2 58 39 101
£ 18 188 127 333
N ESPPES 1 8 16 25
JIZTFZFILAE 4 22 14 40
SIYUEAY E, Ay FhHIN— 2- 22 17 41
e A, avRy b . A5V9Y%7b 0 4 2 6
@ NIV THEEE 5 55 28 88
] it 12 111 77 200
HEEE AAI 10 62 43 115
Pl ek 5 26 15 46
MBI ILE— 1 4 3 8
ERER—R. (T 0 1 2 3
[ £t 6 31 20 57
Fd—nN—k—F 1 6 5 12
A [AREIK 8 23 20 51
72NV b (ACG, I7a0A° bH) 11 113 84 | 208
ESSI—4 5 23 17 45
BS5SIT—4FK— 3 6 7 16
=t 28 171 133 332
EF IR 0 2 1 3
HH A AER 4 52 25 81
ZF D4 1 12 7 20
= B 0 0 0 0
E 194 1, 848 1, 434 3,476
= e 113 999 777 1,889




% (AEROETEMREHERN

AR B O FE T 55 A

D
Thkm =3 3<% 5~7 7~10 T6hkm pigen ” 5&)“
il Fib Bkm BHkm Fkm Fkm i
T ALBRVES 0 4 19 42 71 63 30 22 (6.6)
01 / > FJb 0 0 0 1 1 1 0 0.1)
® REFXRE 0 0 0 1 1 0 0
© Dl 0 0 0 0 0 1 0 1
02 ¥ 14 99A 0yt T-LEE. & -by” 3{vb 0 2 10 20 43 32 12 19 | (3.4)
® il 0 0 0 1 3
[ N5 0 0 0 0 1
@ Hif- 0 0 3 3 5 20
® T—YNRE 0 2 5 1€ 35 2 85
o Tt 0 0 2 1 6 10
03 TRA—NTF7S5A4 A2 F 0 1 4 8 11 35 | (1.0)
0 BETE 0 1 3 3 8 10 7 3.
0 AANDEREER 0 0 0 0 1 1
04 NT—=RFF7UT 0 1 18 1 19 10 7 2.1)
® ~N)LEFR 0 0 1 16 1 7 51
o HiEh 0 0 0 p [ 2 13
® F—REE L 0 0 0 0 1 4
® RVITHR 0 0 0 2 0 1 0 3
® TNt 0 1 0 0 0 0 0 1
@ FAEX 6 77 240 363 446 374 187 1.693 | (48.7)
05 JL—FRHF)L 0 0 1 E 2 (0.3)
® BHELHR 0 0 1 3 2
06 IN—FTTL—F 0 3 6 7 7 1 E 38 | (1.1)
) BELR 0 3 4 : 25
) T4 X —EF 0 0 0 11
) Tt 0 0 0 0 2
07 JL—Fh—R. N0 F 0 0 0 E 1 3 20 | (0.6)
® Bimh., T7imth 0 0 0 1 7
® #BfE. #ik 0 0 0 4 1 1 1
® Tt 0 0 0 0 1
08 JL—%8& 0 2 8 12 9 6 7 44 | (1.9)
® 0 1 2 6 3 2 4 18
® R—/"—Ovd 0 0 9 0 0 0 1
[ 0 1 6 6 6 3 3 25
09 RRE—S YIS 1 1 1 7 12 7 2 31 | (0.9)
® BiEh 1 1 1 7 10 1 1 22
® EHTR 0 0 0 0 0 1 1 2
® Tl 0 0 0 0 2 5 0 7
10 IR =Y H 1 14 34 56 39 a7 12 203 | (5.8)
® RREh 0 6 21 34 27 27 7 122
® BB 0 1 7 7 2 5 3 25
® O/H.XHF 1 7 6 11 14 2 49
® T 0 0 0 4 2 0 7
BV EEDIN 1 6 12 1 43 4 16 135 | (3.9)
® &Rt 0 0 1 12 4 22
® EHEFR 0 1 4 6 12 5 36
® 0/H 3T|E 1 4 7 7 17 2 4 67
® Tt 0 1 0 0 2 2 3 8
12 FSLRUSA=2T 1 9 36 60 74 6 23 264 | (7.6)
® DEALR 0 0 4 0 2 3 0 9
® SA—VIER 1 7 27 49 53 40 17 194
® FSLBHE 0 0 4 8 16 13 4 45
® RS 0 0 0 0 0 0 1 1
® TN 0 2 1 3 3 5 1 15
13 54 RIRUNY F 2 42 140 203 255 187 120 949 | (21.3)
© Ny FER 1 31 108 149 177 122 89 677
® T4AATRIE 1 11 32 54 78 63 31 270
o BE 0 0 0 0 0 2 0 2
Q ETEE 0 3 7 11 18 10 [} 57 | (1.6)
14 34 0 2 2 3 7 1 0 15 | (0.4)
® ZREFER 0 0 0 0 1 0 0 1
® BALRE 0 1 1 2 5 1 0 10
o FDit 0 1 1 1 1 0 0 4
15 R4 —Jb 0 0 2 4 2 0 6 14| (0.4)
® RSUAXRR 0 0 [) 0 0 0 1 1
® R LA, 0 0 1 4 2 0 5 12
® TN 0 0 1 0 0 0 0 1
16 TR —ILRF YT 0 1 3 4 9 9 2 28 | (0.8)
® Hi- 0 1 1 1 0 2 1 6
® Hift 0 0 0 1 0 2 0 3
@ iRX 0 0 1 2 8 4 1 16
® TNt 0 0 1 0 1 1 0 3
@ BEEE 0 3 1 5 9 14 7 39| (1.1)
17 27Uy 0 1 0 0 0 2 0 31 (1)
® Tt 0 1 0 0 0 2 0 3
18 Oy} -7-L3E. & by 3{v}b 0 0 1 4 4 3 4 16 | (0.5)
® Hiz 0 1 2 1 2 3
© BiE 0 0 1 0 [} 1 2
0 T 0 0 0 1 3 1 0
19 aw977J—N 0 2 0 1 5 9 3 20 | (0.6)
® HhiEh 0 2 0 1 3 4 1 11
® TNt 0 0 0 0 2 5 2 9




% (AERHOETEMSNERERY0

AEEOERDES ‘ e
175km 1~3 3~5 5~7 7~10 1075km T 5 5 (%;"
BHER xik BHkm Bkm Hkm Hkm B

o

3 317 | (9.1)

© DACEER 14 5 72 82

20 VS5VF 10 13 47 | (1.4)
® TRY, YThT B 1

© EFni

OiN|—

21 X=aPINbSVAIYY3IY (0.2)
® FALEN
® FYIRHEFRR

® Tt

olojo|o|jo

olo|o|o
nlolo|—

N

22 A—+rIXFVILSUARI YLD (0.6)
® F4ILiENh

& FTAILTRE

® TR

® T

e

olo|=|o|lo

23 JARI YT b 0.2)
® H'7=

@ CaAHEFR
@ TOit

ojo

Y IFNQ Y PN ) Y PN 7= 11 ) Y Y P 1

oNoININO
ol|olo|o|o|—

24 FSA4T %Ik 26 (5.9)

® T—YniEIE

mles
2 O
(e

N e
— [h
=
NS

o|mjvlojojo|o|e

—|o
—

o= |oiNdo|MdIN|o|o|a e |o|= =Moo o o
pjolofolmsin

NN

25 FOAILTY YT b, NT (0.6)
1 IViEh

FALS—LT R

Sk u;f/wb 10 0.9
FA )i

Z 0

olojo|o|o|ojo|o|o|o|o|o|ojo|o|—=|Oo|o|o|=|O|o|o|o|o

]ew|alw]|wv]olololelalolo|—=

_‘
O = WO|= N0
O|= =N |ON |l
F
(=15 Gl (=] (=] [=][=]
=

7
7
® TNt
2
%

~
Y

BRIEEE

27 EBEM (0.3)
) IEBHT R
AB—BF R
® TNt

olw|a|an
bt (=d NI (S
—

—

28 BRI 20 | (0.6)

FLER—FFR

o|ojojojojoln
wojojo|jojo|jo

@ 7

@ TN 0
EPER 14 47 54

) JS5TTR 1 22
) RAEHTR 0
) FTAAFJE2—3—FR 8 14
XL ETPEPFEI T

NATava—FFB 14 14
F DA 0

N
—

29 16 (4.8)

—

-
-

PR PP PS

7
g
—

P
oo

30 Ny T)— .0)

Ny T U—ERY 4

BEE
IR F R BR
Z0is

(=4 (=1 ) B B (= (A B

e
O |O|=|Nn|=|o|o|om|~

31 %7K, EHEESE p 1
NV THh

XIS BAE
TA4 13—, F—=CFR
HBTER. REFE :
0 2

4N
—

ol|=|el=lolo|={m|ols|oln]«la|nlofwlw
4]
'
py

—
IInvjola|ujojo
—

999w

en|=lolalllo

0
—

200 5.8)
25 0.7)

H

PPPF I
32 TV T

D

40 1.2)
38

33 TFILAVE
© Fh. BEY
® Z it

_.

=

-

- =]
~|wo]|o|w|S!
of=|=|nlo

—

41 | (1.2)
31

34 SUSHAYE, A Ehii—
® HA Y LTR
® ~v FifikE

® TNt

ojo|o|o|o|o|o
—
ure
-y

35 £ AbYy. avAgh . H3vhveTb
0© X F LB

o BEE

® it

NN feo

olo|o|o

8 2.5

36 INLTHE

) BASVITRLPEFR
) L THH

) D

e
—|nfon|o|s]|ololss|o|a s lelolaaolS

o |
O|=|O|O|=|=|=lwl=|o|v|o

o|ojo|o|ojo|o
olo|=|=lo|o|=|=|=|o|e
(=1(=] M [ Ll [=] (=] =] =] (=) (=]

ol

22 35 118 (3.3)

-
o

—{—
g vy

22 35 (3.3)

P L1 (S

||~
=

~jo|o
—

-
¥
o
S
0|
B
o|lojo|o|o|e
ol =3
o|w|nsioy
@
-lo

57 |_(1.6)

n|o

46 | (1.3)

-
o
=t |0 |0

@ REESEETR
® Ja—ILRSTEFR
® T

olo|ojojlo|o
o

39 MEIT L NT— 8 [ (0.2

® BFY

40 MEF—R, {7
® ER. BE
® ENi

ojo|ojo|ojolo|o

=) Y N Py PYY
—lo|=]=]—]n
olo|o|=|—|o]=|o|ol=|N

(=J{=F{=] 23],
[=) [ [y N




% (AEROETIENBMEREK

AR OETRER P
18km 1~3 3~5 5~7 7~10 1075 km B o (,‘)‘
BT E3: Hkm Fkm Fkm FHkm #8 *
IGEE 1 14 5 7 98 50 35 332 | (9.6)
4 A—N—E—F 0 0 4 0 2] (0.3)
42 BEIK 1 1 1 20 3 (1.5)
® T & 0 0 0
® 5h 0 1 0 1
@ mn 1 0 4 2,
I 0 0 3 0 7
243 J7 o ~JU F_(ACG,I7aUN WF) 0 11 37 49 55 31 25 20 (6.0)
® IH 0 5 5 [ 4 2 2 23
® HiE, 0 6 32 44 51 2 23 185
0 TNt 0 0 0 0 0 0 0 0
14 SOI—3 0 2 8 9 1 7 6 45 | (1.3)
® XrvITR 0 1 0 2 C
® U—EXFYFAR 0 1 3 2 [ 2 4 1
©® JKmAL 0 0 4 3 6 2 1 1
® TNt 0 0 1 2 0 2
25 SUL—HIRh—A 0 0 0 6 4 1 (0.5)
® NEX14 0 0 0 6 3 1
® T 0 0 0 0 1 0 1
@ EFamEE 0 1 0 0 1 0 3| (0.1
— @ EoY—AR 0 1 0 0 1 0 3
® TEmAT B 0 0 0 0 0 0 0
® Tt 0 0 0 0 0 0 0
ZH® 2 1 12 1 1 1 81 (2.3)
® XIS —A B 1 1 10 1 1 65
@ [BA—7/\N— 0 2 1
® EoY—ThB 0 0 1 0 0
@ FBAR 0 0 0 0 0 0 0
® O 1 0 0 0 0 0 0 1
@ F0OE 0 4 2 5 7 2 0 20| (0.6)
@ &~ 88 0 0 0 0 0 0 0] (0.0
33 15 17, 519 745 935 721 369 3,476 [(100.0)
ES B 11(0.6) 112(5.9) 302(16.0) 410(21.7) 495 (26. 2) 348 (18 4) 211(11.2) | 1. 889(100.0)
#12 BHER (RAZEA - AEESHF)
B 5 % A E [
BHNA 8 5 ® 17 + 8 Bt 1 2 T B &
Pp—— 93 (41.0) 113 (49.8) 21 (9.3)] 227 (100.0)| 112 (49.3) 84 (37.0) 14 (6.2) 17 (3.5} 227 (100.0)
[19. 4] [9.7] [8.8] 12.0 [8.9] 6. 7] [10.5] [6. 4] [12.0]
1~25M 105 (25.1) 271 (64.7) 43 (10.3)[ 419 (100.0)| 284 (67.8) 58 (13.8) 27 (6.4) 50 (11.9)| 419 (100.0)
[21.9] [23.2] [17.9] [22.2] [22.5] [25.3] [20. 3] [18.71 2.2
2~35H 81 (24.4)] 211  (63.6) 40 (12.0)| 332 (100.0)| 225 (67.8) 32 (9.6) 27 (8.1) 48  (14.5)| 332 (100.0)
[16. 9] [18.0] [16.71 [17.6] [17.9] [14.0] [20.3] [18.0] [17.61 -
3~475H 48  (21.3)| 145 (64.4) 32 (14.2)] 225 (100.0)| 149 (66.2) 16 (7.1) 21 (9.3) 39 (17.3)| 225 (100.0)
[10.0] [12. 4] [13.3] 11.9 [11.8] [7.0] [15. 8] [14.6] [11.9]
4~55H 33 (25.8) 79 (61.7) 16 (12.5)] 128 (100.0) 85  (66.4) 8 (6.3) 13 (10.2) 22 (17.2)] 128 (100.0)
[6. 91 [6.81 [6.7] . [6.71 [3.5] [9. 8] [8.2] 6.8
5~75M 27 (15.9)f 118  (69.4) 25 (14.7)] 170 (100.0)] 132 (77.6) 10 (5.9) 4 (2.4) 24 (14.1)| 170 (100.0)
[5. 61 [10.1] [10.4] [9.0] [10.5] [4.4] [3.0] [9.03 .
7~1058 21 (22.6) 64 (68.8) 8 (8.6) 93 (100.0) 75  (80.6) 2 (2.2 7 (1.9 9 (3.7) 93 (100.0)
[4.4] [5.5] [3.3] [4. 9] [6. 01 [0.9] [5.31 [3.4] [4. 91
105 A 17 (18.7) 67 (73.6) 7 a7 91 (100.0) 68 (74.7) 4 (a.9) 6  (6.6) 13 (14.3) 91 (100.0)
[3.5] [5.71 [2.91 4.8 [5.4] [1.73 [4. 5] [4.9] 4.8
T B® 55 (27.0) 101 (49.5) 48  (23.5) 204 (100.0) 130 (63.7) 15 (1.4) 14 (6.9) 45  (22.1)| 204 (100.0)
[11.5] [8. 61 [20.01 [10.8] [10.3] [6. 61 [10.5] [16.9] [10.8]
B+ 480 (25.4)] 1,169 (61.9) 240 (12.7)|1,889 (100.0)| 1,260 (66.7)] 229 (12.1) 133 (7.0)| 267 (14.1)| 1,889 (100.0)
[100. 0] [100. 0] [100.0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0]
S (BHEERER)
R RE zpm B 9 ot e #
- 163 (71.8) 58 (25.6) 0 (0.0 6 (2.6)] 227 (100.0)
1BRRA [12.5 [14.4] [0.0] [3.5] [12.0]
1~25H 298 (71.1) 86 (20.5) 1 (0.2 34 (8.1)| 419 (100.0)
. [22.9] [21.4] [7.73 [20. 0] [22.2]
2~35H 218 (65.7) 70 (21.1) 4 (1.2 40 (12,00 332 (100.0)
[16.7] [17.4] [30.8] [23. 5] [17.61
3~45H 164 (72.9) 41 (18.2) 2 (0.9 18 (8.0) 225 (100.0)
[12. 6] [10.2] [15.4] [10.6] [11.9]
4~55H 91 (71.1) 26 (20.3) 0 (0.0 11 (8.6)] 128 (100.0)
[7.01 [6.51 [0.0] [6.5] [6.8]
5~75H 124 (72.9) 31 (18.2) 1 (0.6) 14 (8.2)[ 170 (100.0)
[9.5] [7.71 (7.7 [8.2] [9.0]
1~105R 65 (69.9) 20 (21.5) 2 (2 6 (6.5 93 (100.0)
[5.01 5 [5.0] R [15. 4] i [3.5] 5 [4.9]
54 (59.3 25 (2.5 1 1.1 1 (2.1 81 (100.0)
WEAE [4.1] [6.21 [7.71 6. 51 [4.8]
7 B 127 (62.3) 45  (22.1) 2 (1.0 30 (14.7)| 204 (100.0)
[9.7] [11.2] [15.4] [17.6] [10.8]
n 1,304 (69.0)] 402 (21.3) 13 -0.7)] 170 (9.0)| 1,889 (100.0)
[100. 0] [100. 0] [100. 0] [100. 0] [100. 0]




5% (RBEERAEROETERR))

con :"ﬁ“ 1 Hknskis 1~3%kn | 3~5%km | 5~77Fkn | 7~107%kn 105kn#2 F B 5t

IBARE 5  (2.2) 15  (6.6) 43 (18.9) 53 (23.3) 55 (24.2) 33 (14.5) 23 (10.1)| 227 (100.0)
[45. 5] [13. 4] [14.2] [12.9] [11.1] [9.5] [10.9] [12.0]

1~25F 2 (0.5 35  (8.4) 80 (19.1) 98  (23.4) 98 (23.4) 58 (13.8) 48 (11.5)| 418 (100.0)
[18. 2] [31.3] [26.5] [23.9] [19.8] [16.7] [22.7] [22.2]

935 0 (0.0 23 (6.9) 55 (16.6) 81 (24.4) 78  (23.5) 60 (18.1) 35 (10.5) 332 (100.0)
[0. 0] [20. 5] [18.2] [19. 8] [15. 8] [17.2] [16. 6] [17.6]

3~4F5M 0 (0.0 6 27 37 (16.4)] 46 (20.4) 64 (28.4) 48 (21.3) 24 (10.7)| 225 (100.0)
[o0. 0] [5. 4] [12.3] [11.2] [12.9] [13.8] [11.4] [11.9]

4~5F5 M 2 (1.8) 4 (3.7) 14 (10.9) 31 (24.2) 36 (28.1) 31 (24.2) 10 (7.8)| 128 (100.0)
[18.2] [3.6] [4. 6] [7.6] [7.3] [8. 9] [4.7] [6. 8]

5~75H 0 (0.0 6 (3.5 21 (12.4)] 32 (18.8)| 47 (21.6) 45 (26.5) 19 (1.2)] 170 (100.0)
[0. 0] [5. 4] [7.0] [7.8] [9.5] [12.9] [9.0] [9.0]

7~105H 1 (1.1 7 (1.5) 11 (11.8) 19 (20.4) 31 (33.3) 15  (16.1) g (9.7 93 (100. 0)
[9.1] [6.3] [3.6] [4.6] [6.3] [4.3] [4.3] [4.9]

105EE 0 (0.0 2 (2.2 8 (8.8) 12 (13.2) 32 (35.2) 26 (28.6) 1 (12.1) 91 (100. 0)
[0. 0] [1.8] [2.6] [2.9] [6.5] [7.5] [5. 2] [4.8]

* ®; 1 (0.5) 14 (6.9) 33 (16.2) 38 (18.6) 54 (26.5) 32 (15.7) 32 (15.7)[ 204 (100.0)
[9.1] [12.5] [10.9] [9.3] [10. 9] [9.2] [15.2] [10. 8]

st 1 (0.6) 112 (5.9) 302 (16.0)( 410 (21.7)] 495 (26.2) 348 (18.4) 211 (11.2)] 1,889 (100.0)
s [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0] [100. 0]




